ER-IERRREE-RR

SHTEs 2B RE
HEXEE EBMESRE

T I T X RBE
RET — R X8 HE
HEAEEEL O |[TES
X7 GRKE) |REmEEHEE (30
(THKRE) |LIEREEREE (191
i REEHREE | —0)RE=143, #)I5E=13.7, GZBE)HRE=11.4, & T)IRi%=145
ok EE = =
FBEANHKPHR |_
IZkBEHE
2] - . fEE 20m/s
A FHNE fi: 20m/s
= o ; Bt 20m/s EEES
FRE FERE B 20m/s EEMES
AE BEEDRS 1285 E DFES10cm
KR E ) 6.0m
= 80 B4 2.2m
X FEmEEgE%E |20
TIERMEEHEE |10
RERERENEE |[—0)IFE=11.4, 8)IFE=109, S7A)IFE=9.1, {&T)IFE=116
— HoEsE —DJIIFREE=(10, 11.4)
EEANBKTR |_
IZkBEHE
W . fEE 12m/s
SR A T RE B 2m/s
= T , fEE 12m/s BFH#ES
RE T RE B t2m/s BEMES
AE BEEDRS 12651 E DES3cm
AR KR HEES 2.5m
=i AL 1.7m
ES FEFICFYEENTEINDSE
RME
o - fEE 100m
=& 1Rig B 500m
BrIR &/INBES50% T, ENEE65%
BEn
&8 B FELYFYTIEHNICULEDBLIAME, SHI2AUERKEFRENSES
- £H BIESEA-3CUT
= 11B30BETHEE. A 15ALIKENDKE RIEKIBICLUT
EK-ES REFER-ZHROEHE T T, ZURH-2°C~2°C EEI0% L
ORI ERER KRRIER 1B mE [110mm

NREREEY AEFEEH OMAShEICIIREBEERLTVET,



